
 
 
 

Power method for solving the partial eigenvalue problem  
 

 Sometimes only the modularly largest eigenvalue λ  is needed. It is well 

known, that  
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It is recommended that the derived vector is normalized on every step, so that 

its largest component is 1. On the last step the normalizing multiplier will give the 

value of the modularly biggest eigenvalue. Also, the eigenvector is derived. 

  

Example. Find the modularly largest eigenvalue of the matrix 
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and its corresponding eigenvector. 

Solution:   
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with an accuracy of . 0,05 4, 48; (1; 0, 47; 0,14)Txε = → λ = =
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